
|𝑧 − 5𝑖| = 4		

	

𝑧 − 4 = |𝑧 + 2|	

	

𝑧 − 2 + 2𝑖 = 3	

	

𝑧 − 6 = |𝑧 + 6 − 9𝑖|	

	
	

	 	



arg 𝑧 = 	
𝜋
3	

	

𝑧 − 3 = 4|𝑧 + 1|	

	

arg 𝑧 + 2 + 2𝑖 =
𝜋
6	

	

arg 3
345

= 6
7
		

	
	

	 	



𝑧 + 𝑧 − 4 = 6	

	

𝑧 − 3 − 𝑖 ≤ 3	

	

𝑧 − 2 + 𝑖 ≥ 2	
and	

𝑧 − 2 + 𝑖 ≤ 4	
	

𝑧 − 3 − 2𝑖 ≤ 2	
and		

|𝑧 − 3| < |𝑧 − 5|	
	

	

	 	



arg 𝑧 − 1 − 𝑖 = 	
3𝜋
4 	

	

𝑧 + 3 + 𝑖 = |𝑧 − 2 − 2𝑖|	

	

arg
𝑧 − 5 + 7𝑖
𝑧 + 1 + 𝑖 = 	

𝜋
2	

	

−𝜋
4 ≤ 𝑎𝑟𝑔 𝑧 − 2𝑖 ≤

𝜋
3	

	
	

	 	



𝑧 − 3 = 2|𝑧 − 1 + 𝑖|	

	

arg 𝑧 + 3 = 	−
𝜋
3	

	

𝑧 + 2 = |𝑧 − 𝑖|	

	

arg 𝑧 = 	
𝜋
4	

	
	

	


